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ZADANI SROVNAVACI PISEMNE POLOLETNI PRACE
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9. tfida / 2. pololeti

skupina C

Doba na vypracovani: 45 minut

V tomto testu se objevi uivo z 6. a 7. lekce Projectu 4 - rozdil mezi minulym a predpritomnym ¢asem, been a gone,
pridavna jména, podminkové véty a samoziejmé také slovni zasoba. Kromé toho v testu bude také poslech, nékolik tkoll
zaloZenych na ¢teni s porozuménim a pisemny projev.



(1. Poslech)

TEXT K UKOLOM 2 ai 4 (nejdfive si pozorné precti text, pak vypracuj tkoly dole pod textem):

Life’s turn
1 Everyone has their dreams and ambitions but you ! know where life would really take you. Could a disorganised secretary
2 ever picture herself becoming a billionaire one day? Probably not, but that’s exactly what 2 to J.K. Rowling, author of the

3 world famous Harry Potter books. As a child, she wanted to become a ballerina but she wasn’t graceful } . After leaving school,

4 she studied 4_. Then she got a job as a secretary. There was just one problem —she just 5_ organised at all! Her

5 imagination was far too wild for dull paperwork! Eventually it worked miracles for her. On a train 6_, she thought up a story
6 about a young boy who goes to a school of wizardry. The main character, Harry Potter, even had the same 7_ glasses that she
7 wore at school. J.K. Rowling 8_ rich and famous overnight with fans all over the world. As she writes in one of her

8 books : “ it matters not what someone is born with, ° what they grow to be.”
Access 3. Newbury: Express Publishing, 2008, s. 72. ISBN 978-1-84679-791-0.Upraveno.

2. Doplit mezery v textu vhodnym slovem z vybéru. Spravnou moznost zakrouzkuj, do textu slova vpisovat nemusis.

1 A) not B) never C) ever

2 A) happen B) happend C) happened
3 A) too B) enough C) for

4 A) French B) France C) Frenchy

5 A) was B) weren’t C) wasn't

6 A) journey B) path C) road

7 A) fat B) thick C) tight

8 A) become B) becomed C) became

9 A) but B) or C) and

3. Precti si nasledujici tvrzeni a uved, zda jsou pravdiva (T) Ci IZiva (F). Odpovéd napis vedle vét.

1 J.K. Rowling worked as a ballerina.
2 She wasn’t a very good secretary.

3 She used to wear glasses.

4 She is famous but she isn’t wealthy.

4. Najdi v textu slova stejného nebo podobného vyznamu jako maji nasledujici slova a slovni spojeni. Pro snadnéjsi orientaci
mas v zavorce uvedeno Cislo odstavce, ve kterém spravny vyraz najdes. (Odstavce jsou ocislované Cisly v zavorkdch.)

1 an enormously rich person (2)

2 recognized by many people (3)

3 boring (5)

4 the opposite of different (6)

5. Dopln text jednim ze slov uvedenych pod zadanim tak, aby text daval smysl. Dvé slovicka potfebovat nebudes.
contestant welcome winners chance lose get host |

WHO WANTS TO BE A MILLIONAIRE

Hello. * back. You're watching Who wants to be a millionaire and I'm your 2 Tony Black. Our } this
week is Jillian Joe. At the end of round one Jillian has won £9,000. Today she will have the ¢ to win more money or she can
> everything.

6. Napis do mezery spravny tvar slovesa v zavorce v minulém ¢i pfedpfitomném case.

1. We (make) the cake yesterday.
2. She (work) here for ten years now.
3. When he was a child (not like) olives.

4, you ever (be) to Egypt?




7. a) Napis slova opacného vyznamu.

b) Napis k podstatnému jménu pfidavné.

a) fat

b) happiness

straight

luck

8. Spoj spravné dvé casti vét.
1. I'll stay at home

2. I'll have a drink

3. We'll miss the bus

4. We’ll have a party

9. Preloz do cestiny.

1) If he catches us, he will eat us.

a) if | am thirsty.
b) if you don’t hurry up.

c) if we win the match.

d) if it rains.

2) We won't be able to win if we don’t practise.

10. Dopli been i gone.
1) Can | speak with Sarah? No, she has
2) I have to the USA twice.

11. Napis k slovestim opaky.

1) sit - 2) close -

12. Zakrouzkuj nehodici se vyraz z fady.

1 A) wrong B) terrible
2 A) yawn B) jump

3 A) winner B) wheel
4 A) catch B) miss

13. Psani.

to the supermarket.

3) leave -

C) great
C) scream
C) contestant

C) lost

D) boring
shout

host
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D) forget



